INSTRUCTIONS

MODEL # 091-28AK
1. Mount Air Eject to Mounting Plate using (3) #8-32 x 1/2" Screws and lock washer.

WEATHERPROOF ADAPTER KIT FOR AIR EJECT

2. Mount Air Eject and Mounting Plate, Gasket and Weatherproof Cover to Truck Wall
using (4) #8-32 x 1-1/4" Screws, Lock Washer and Hex Nut.

3. Install Coupler Adapter to your Air Line and Female Coupler. This is a tight fit and
some force may be required. Be certain that coupler is fully seated in protector.

4. Slide the plastic Protector/Handle over the Air Eject Female Coupler.

5. See your Air Eject Instructions for details on your Air Eject installation.

TRUCK WALL

MOUNTING PLATE

#8 LOCK WASHER
#8-32 HEX NUT

AIR
EJECT
091-28

I

N

\

_%_.

SR

GASKET

WEATHER PROOF COVER

#8-32 x 1-1/4" SCREW

#3-32 x 1/2" SCREW

I N 1 I E A I

-

—~ — | 5
/— PROTECTOR /HANDLE
N4
AIR EJECT COUPLER
FEMALE ADAPTER
COUPLER
|
-

/ AIR LINE

November 18, 2004



